PRIMAL  |nstruction and Safety Manual

Silent Swivel
Adjustable Hunting Chair
MODEL: POSC-272

Thank you
very much
for choosing

) PRIMAL

OUTDOORS L WARNING G
We appreciate
your business! ONLY USE AT GROUND LEVEL.

Distributed by Primal Brands, LLC, 1745 Shea Center Drive 4th Floor, Highlands Ranch, CO 80129 LIULS

Customer Service Department 1-479-268-5124 www.primaloutdoors.com




Adjustable Hunting Chair
npﬁ pooss MODEL: POSC-272

r A
PARTS LIST
PN 1 Seat .o Part # PS-272
[B) 1 seatBase.........ooooovviccccccccneen Part # PCB-272 == N3
el
2 AM RESt.ceceevvevveveninnssssssss Part # PAR-272 -
HARDWARE LIST
() 1 M8 Quickclip.........ooooorrrrrrenee Part# 1815
4 M6 x 30mm bolts w/washers......Part # 1026
2 M6 x 55mm bolts with knobs...... Part # 1056
2 M6 x 60mm bolts with knobs...... Part # 1061
- J
Seat ) ﬂ Seat Base h
N J
. J
Arm Rest (2) ) ) .Arm Rest 55mm .Arm Rest 60mm
Bolts with knobs (2) Bolts with knobs (2)
. . RN /. J

Distributed by Primal Brands, LLC, 1745 Shea Center Drive 4th Floor, Highlands Ranch, CO 80129 LIULS

Customer Service Department 1-479-268-5124 www.primaloutdoors.com




Model: POSC-272
Silent Swivel Adjustable Hunting Chair

Assembly Instructions

Center Post High Setting

upright onto .
the legs. Raise L° Setting
the center post -
of the Seat
Base to the
desired height
and insert the
M8 Quickclip
(3 as shown.

Attach the Seat [®to the Seat Base BJusing )
4 - M6 x 30mm bolts w/ metal washers . )

1

Use the lever lock as shown
above to adjust the leg
height of the chair.

J

Attach the Arm Rest @ to the Seat [ using ) WARNING
1 -M6 x 60mm bolts (61on the back rest of the

Seat [ and 1 - M6 x 55mm bolts [56) on the

bottom of the Seat [J. NOTE: Place the spacer ONLY USE AT GROUND LEVEL.
in between the Seat [}y and Arm Rest[8).
Repeat these steps for other Arm Rest. )

3

Distributed by Primal Brands, LLC, 1745 Shea Center Drive 4th Floor, Highlands Ranch, CO 80129 LIULS
Customer Service Department 1-479-268-5124 www.primaloutdoors.com




